



$\lambda=3$ のとき $A-3I = \begin{pmatrix} -1 & -1 & -1 \\ -1 & -1 & -1 \\ -1 & -1 & -1 \end{pmatrix} \rightarrow \begin{pmatrix} 1 & 1 & 1 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}$ より $\begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} = \begin{pmatrix} -c_1 - c_2 \\ c_1 \\ c_2 \end{pmatrix} = \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix} c_1 + \begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix} c_2$

$\begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix}, \begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix}$ は正規直交基底をとる $v_1 = \begin{pmatrix} -\frac{1}{\sqrt{2}} \\ \frac{1}{\sqrt{2}} \\ 0 \end{pmatrix}$ $v_2 = \begin{pmatrix} -1 \\ 0 \\ 1 \end{pmatrix} - \frac{1}{\sqrt{2}} \begin{pmatrix} -\frac{1}{\sqrt{2}} \\ \frac{1}{\sqrt{2}} \\ 0 \end{pmatrix} = \begin{pmatrix} -\frac{1}{2} \\ -\frac{1}{2} \\ 1 \end{pmatrix}$

より $||v_2|| = \frac{||\tilde{v}_2||}{\sqrt{\frac{1}{4}+1}} = \frac{||\tilde{v}_2||}{\sqrt{\frac{5}{4}}} = \frac{2}{\sqrt{5}} \begin{pmatrix} -\frac{1}{2} \\ -\frac{1}{2} \\ 1 \end{pmatrix} = \begin{pmatrix} -\frac{1}{\sqrt{5}} \\ -\frac{1}{\sqrt{5}} \\ \frac{2}{\sqrt{5}} \end{pmatrix}$ より

直交行列 $P = \begin{pmatrix} \frac{1}{\sqrt{3}} & -\frac{1}{\sqrt{2}} & -\frac{1}{\sqrt{6}} \\ \frac{1}{\sqrt{3}} & \frac{1}{\sqrt{2}} & -\frac{1}{\sqrt{6}} \\ \frac{1}{\sqrt{3}} & 0 & \frac{2}{\sqrt{6}} \end{pmatrix}$ 1-5より $P^T A P = \begin{pmatrix} 0 & 0 & 0 \\ 0 & 3 & 0 \\ 0 & 0 & 3 \end{pmatrix}$

と対角化された。

5

(1) $f(x_1, x_2) = (x_1, x_2) \begin{pmatrix} 1 & 2 \\ 2 & 1 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \end{pmatrix}$ $A = \begin{pmatrix} 1 & 2 \\ 2 & 1 \end{pmatrix}$ は直交行列で対角化

$|A - \lambda I| = \begin{vmatrix} 1-\lambda & 2 \\ 2 & 1-\lambda \end{vmatrix} = (1-\lambda)^2 - 4 = (\lambda+1)(\lambda-3) = 0$ $\lambda = -1, 3$ 固有値

$\lambda = -1$ のとき $A + I = \begin{pmatrix} 2 & 2 \\ 2 & 2 \end{pmatrix}$ より $\begin{pmatrix} -1 \\ 1 \end{pmatrix}$ $\lambda = 3$ のとき $A - 3I = \begin{pmatrix} -2 & 2 \\ 2 & -2 \end{pmatrix}$ より

固有値 $\begin{pmatrix} 1 \\ 1 \end{pmatrix}$ 固有値 $\begin{pmatrix} 1 \\ 1 \end{pmatrix}$ より $P = \begin{pmatrix} \frac{1}{\sqrt{2}} & -\frac{1}{\sqrt{2}} \\ \frac{1}{\sqrt{2}} & \frac{1}{\sqrt{2}} \end{pmatrix}$ 1-5より $\begin{pmatrix} x_1 \\ x_2 \end{pmatrix} = P \begin{pmatrix} u_1 \\ u_2 \end{pmatrix}$ と変換すると

$f = (u_1, u_2) \begin{pmatrix} 3 & 0 \\ 0 & -1 \end{pmatrix} \begin{pmatrix} u_1 \\ u_2 \end{pmatrix} (= 3u_1^2 - u_2^2)$

6.

$f(x_1, x_2, x_3) = x_1^2 + x_3^2 - 2x_1x_2 - 2x_2x_3 - 4x_3x_1$
 $= x_1(x_1 - x_2 - 2x_3) + x_2(-x_1 - x_3) + x_3(-2x_1 - x_2 + x_3)$
 $= (x_1, x_2, x_3) \begin{pmatrix} x_1 - x_2 - 2x_3 \\ -x_1 - x_3 \\ -2x_1 - x_2 + x_3 \end{pmatrix} = (x_1, x_2, x_3) \begin{pmatrix} 1 & -1 & -2 \\ -1 & 0 & -1 \\ -2 & -1 & 1 \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix}$

4.

$f(x_1, x_2) = x_1(ax_1 + bx_2) + x_2(bx_1 + cx_2) = (x_1, x_2) \begin{pmatrix} ax_1 + bx_2 \\ bx_1 + cx_2 \end{pmatrix}$
 $= (x_1, x_2) \begin{pmatrix} a & b \\ b & c \end{pmatrix} \begin{pmatrix} x_1 \\ x_2 \end{pmatrix}$ $A = \begin{pmatrix} a & b \\ c & d \end{pmatrix}$